LV.F-80
LV.F-80-AS

ELESA J& 4% it
WH &% AKCE R B4

- WA e B R B EPA) BRSO EAOR R, WA, b,
fE A B H % A

- AERES, EXWE,

- WA W RIEN,

LVIFRL R A R A B ACE R B

- LV.F-ASHL . NBRRET0 B 8 AR AKCF I B, S,
FHRMEETHRERERRT RREFE, WLEXBE AW, &F
FESSEARTHERT, REQDHIAL,

- TN 2180% 0y Mo H %Kk L

N REF (BRI, 2LE5127),

AL R L L L A R A A L R R R A R L

e sl i

et .-.-..-._..-.-_.r_.-..-,- | ' | *. .
*.ihﬁtuilﬂgmﬂm 3!

e e liliilh-ﬁ-llr‘

UL LR LU LS LA LECLEL LAY

i

BT A E AT, 2N EN2T KA,
1 1 —
KEFREBEHENEENENTERFFERNFTE, TRHFELTE BIERR
H. BTG REERA, BIEZE, TUFERE., Kb ERN P, o '
— | ] 4o
w A o M ﬂ’ﬂi"‘- .___“‘.MS
AFBELETHEMMVYRE, EATEHBENATEES, £ < T
RoeSaEd HEnREy, FAEFFE, PEATAFENXT Sy
A E A, ) T,
= — i < l
“‘ﬂﬁ
' ' ' ) o e —— ':[_ —_—
8.5
54
D
b+~
Rk Bk CoeE R+ g | my | 857 | oo | ==
K55 B S (A8 B S D L Lig h| d | @ s [N] g g#
311121 | LV.F-80-14-M8x43 314121 | LV.F-80-14-AS-M8x43 76 79 M8 43 85 111
311125 | LVF-80-14-M8x68 314125 | L\V.F-80-14-AS-M8x68 80 101 104 33| M8 68 14 14 16000 97 123
311221 | LV.F-80-14-M10x43 | 314221 | LVF-80-14-AS-M10x43 76 79 M10 43 94 120
311225 | LVF-80-14-M10x68 | 314225| LVF-80-14-AS-M10x68 | 80 101 104 33 | M10 68 14 14 16000 106 132
311231 | LV.F-80-14-M10x98 | 314231 LVF-80-14-AS-M10x98 131 134 M10 98 120 146
311321 | LV/F-80-14-M12x43 | 314321 | LV F-80-14-AS-M12x43 76 79 M12 43 104 130
311325 | LVF-80-14-M12x68 | 314325| LVF-80-14-ASM12x68 | 80 101 104 33 | M12 68 14 14 16000 121 147
311331 | LVF-80-14-M12x98 | 314331 LV F-80-14-AS-M12x98 131 134 M12 98 142 168
311521 | LVF-80-14-M16x68 | 314521 | LV F-80-14-AS-M16x68 101 104 M16 68 165 191
311525 | LV.F-80-14-M16x108 | 314525 LV F-80-14-AS-M16x108 141 144 M16 108 217 243
311541 | LVF-80-14-M16x148 | 314541| LVF-80-14-AS-M16x148 | 80 181 184 33 | Mm16 148 14 16 16000 269 295
311561 | LV.F-80-14-M16x168 | 314561 | LV.F-80-14-AS-M16x168 201 204 M16 168 205 321
311621 | LV.F-80-24-M16x58 | 314621 | LVF-80-24-AS-M16x58 101 104 M16 58 227 253
311625 | LV.F-80-24-M16x98 | 314625 | LV F-80-24-AS-M16x98 141 144 M16 98 278 304
311641 | LV.F-80-24-M16x138 | 314641| LVF-80-24-AS-M16x138 | 80 181 184 43| m16 138 | 44 24 18000 328 354
311661 | LV.F-80-24-M16x158 | 314661 | LV/F-80-24-AS-M16x158 201 204 M16 158 355 381
311725 | LV.F-80-24-M20x98 | 314725 | LV F-80-24-AS-M20x98 141 144 M20 98 348 374
311741 | LV.F-80-24-M20x138 | 314741 | LVF-80-24-AS-M20x138 181 184 M20 138 427 453
311761 | LV.F-80-24-M20x158 | 314761 | LVF-80-24-AS-M20x158 | 80 201 204 43| m20 158 | 24 24 18000 466 492
311781 | LV.F-80-24-M20x198 | 314781 LV.F-80-24-AS-M20x198 241 244 M20 198 549 575
311825 | LV.F-80-24-M24x98 | 314825| LV.F-80-24-AS-M24x98 141 144 M24 98 446 472
311861 | LV.F-80-24-M24x158 | 314861 | LVF-80-24-AS-M24x158 | 80 201 204 43 | M24 158 | 24 24 18000 618 644
311881 | LV.F-80-24-M24x198 | 314881 LV.F-80-24-AS-M24x198 241 244 M24 198 736 762
" URABAEN REELLERWNAT, EhEREFLORTE, THSIRENHTN,
# k2T B R £ B AR,

“ELESA" and "GANTERGRIFF” models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.

& (elesa+RANTER




